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1. GreenerCo accounts for its Scope 1, 2, and 3 emissions on an annual basis.  It undergoes changes in its business operations as described in the table below.  Indicate whether each change in GreenerCo’s operations would cause its Scope 1, 2, and 3 emissions to INCREASE, DECREASE, or NEITHER. For scope 2 changes, assume a location-based method with no certificate sales. Mention any assumptions on which your answer depends. 
	Impact on GreenerCo’s GHG emissions ►

Changes to GreenerCo’s Operations

▼
	Impact on GreenerCo’s Scope 1 emissions
	Impact on GreenerCo’s Scope 2 emissions
	Impact on GreenerCo’s Scope 3 emissions

	Installing an on-site natural gas-fired power generation plant that replaces coal-based electricity from grid
(assume all gas-fired power is consumed by your company)
	
	
	

	Substituting on-site coal-fired power plant with on-site wind power plant to generate electricity
	
	
	

	Installing an on-site solar power generation plant to replace the need to purchase electricity
	
	
	

	Increasing the efficiency of boilers used in on-site manufacturing processes
	
	
	

	Outsourcing product manufacturing to a third party
	
	
	


2.  Company A produces cement.
· In year 1, Company A had its own vehicle fleet to transport cement and raw materials.

· In year 2, Company A sold this vehicle fleet and contracted a transportation company to transport cement and raw materials.

a. Will Company A’s direct emissions (Scope 1) increase or decrease in year 2?  Why?

b. Will Company A’s indirect emissions (Scopes 2 and 3) increase or decrease in year 2?  Why?

3.  Company B is a software engineering firm.

· In year 1, Company B’s employees rented cars to travel to meet clients.

· In year 2, Company B stopped renting cars and instead purchased four cars for employee travel.

· (In year 2, Company B employees continued traveling to meet clients with the same frequency as in year 1.)

a. Will Company B’s direct (Scope 1) emissions increase or decrease in year 2?  Why?

b. Will Company B’s indirect (Scopes 2 and 3) emissions increase or decrease in year 2?  Why?
4.  If company Q leases an operating unit from company R under an operational lease, which company should report the emissions from the leased operating unit

a.  If the financial control approach is used? 


b.  If the operational control approach is used? 
c. If the equity share approach is used?


5. Company Y has three major offices – one in the U.S., one in Norway, and one in a country with no product or supplier-specific information.

· In year 1 and year 2, the U.S. office buys renewable energy certificates (RECs) to cover 100% of its consumption . These RECs meet the Scope 2 Quality Criteria for the market-based method.

· In year 1, the Norway office does not buy specified power and uses the residual mix emission factor.

· In year 2, Norway buys a hydropower label from its electricity supplier, backed by Guarantees of Origin, that meet the Scope 2 Quality Criteria for the market-based method.
a. How many scope 2 totals should Company Y report for its global inventory? 
b. What data should Company Y use to calculate the market-based method total for the country with no product or supplier-specific information? 

c. In year 2, does the market-based method scope 2 figure increase or decrease? 
